Reg. No. : FY_853

Name :
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/ General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 6 questions from 1 to 9. Each carries 1 score.

Semiconductor in its pure form is called

(doping, p-type, intrinsic, extrinsic)

IC 7805 provides voltage. (8, 7, 5, 0)

A transistor acts as a closed switch in region.

(active, saturation, cut off inverted)

FETis a controlled device.

(current, power, voltage, none of these)

The efficiency of a class C amplifier is

(25%, 50%, 90%, 78.5%)

An astable multivibrator has stable states.

(zero, one, two, none of these)

gate is used for logical multiplication.

(OR, AND, NOR, NAND)

(6 x1=6)

A galvanometer can be used as by connecting a low value resistor in parallel.

(ammeter, voltmeter, wattmeter, ohmmeter)

In digital modulation when we change the frequency in response to the information,

that modulation is called

(TDM, ASK, FSK, FDM)
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1 2)®08 9 A10EWBH ¢21034MSEI08 aBO@BIELS 6 af)ANOTIM DONOONY)®)d:.
1 cpod ail@o. (6x1=6)
UD)RLAOW O)aIBBI LSS OHAVAlGMEBHAOM ag)an aflgleman.

(doping, p-type, intrinsic, extrinsic)

IC 7805 voltage @®@)aM).
(8’ 7’ 5’ O)

80) (SomMalgud dleflemlensm &o) closed switch @RI
(IUBDTNENMN @

(active, saturation, cut off inverted)

FET 80} Moo device @ryeM.

(current, power, voltage, none of these)

830) class C @yoqflan@d1Od ag)adlau jada] @6,
(25%, 50%, 90%, 78.5%)

80} astable multivibrator m” cQUNNU3 CIUYBHBEM DR

(zero, one, two, none of these)

¢e10edl99 @3 2SI NlEHNUM DalEWOUSlENM EQ’ @RY6.

(OR, AND, NOR, NAND)

830} :Oee afleiwss HOMIIRAE aldELRIG3 @YW MEME B2l B0} WOBIAIEMO

dligdlem @RV DaIGWIUIHHIAAN@IE).

(ammeter, voltmeter, wattmeter, ohmmeter)

wledlg@d  cooan)celeudl@d  HMBEaNIBEAHMT  @IMAVAle]  (dldmBailaw
QA®PAVOQS)OTIWITI @) CAOUELIHOHM af)am} alOW)am).

(TDM, ASK, FSK, FDM)
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answer any 8 questions from 10 to 20. Each carries 2 scores.

Find the value of L.
3A 4A
5A
1A

Find the equivalent resistance.

4Q
AAAN
3Q 5Q
o—AAA— —AAA—O
AAAA
4Q

Write about forbidden energy gap.

Draw the forward characteristics of a PN junction diode.

Draw the symbol and write one application of a zener diode.

What is the need of filters in rectifiers.

Draw the block diagram of a power supply.

Draw the structure and mark the terminals of NPN transistor.

Which is the best biasing circuit ? Draw its circuit.

Identify the symbols.

// \}
(a) | >| (b)
Write any two uses of CRO.
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10 2)®@3 20 Q19OWBH G2 103303 aBO®BSIENC 8 af)ANOTIIM DOMOOAY;®)d:.
2 capod allow. (8x2=16)
10. Taes aller @eme)allslon)d.

3A 4A

S5A

11, @om)e o 6oavlguamay daelallses)d.

4Q
AAAN
3Q 5Q
o—AAA— —AAA—O
AAAA
4Q

12, @anodmilawd ag)mdedl Widaflom @016 a|9)@)d:.

13. &) PN junction awe@oauilong ¢an@ealaw diooagqalayld, 01009

14, 80)oavmMAa weoaloHad M3 A1, B0} @R lEHNU A af)$)®)d.

15, 908Fa000)3EI08 afl@3G0)0E1OS @RIV YB@OWANIE).

16. 80} alQI8 MVEOQIWOS CERIIGH WD(Wo AIODE).

17, 80y NPN s0mrilgualead (ué»a 1@ Ql0a] &S@AIMENG:UE GRSWISHQ|SIO1)d:.
18, apQai)e M) MIIlot) MVABYS, aB®IAEM ? @RGEOHZ AVADYS QOIS

19, milmiens6g cildladlo)d.

Ky S
@ 4[>F (b)

20. CRO ®@}6)S @8ME QalCOUNEIBUB af)9I@))d>.
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21.

22.

23.

24.

25.

26.

27.

28.

29.

Answer any 6 questions from 21 to 29. Each carries 3 scores. (6 x3=18)

(a) State KVL.
(b) Using KVL, find the value of L.

2Q
VN <

SV= = 12V
30 3y

Determine the resistance values represented by the following colour codes :
(a) Red Red orange silver

(b) Orange orange orange gold

(c) Brown black black gold

Compare zener breakdown and avalanche breakdown.

Draw the circuit and explain the working of a centre tap rectifier.

(a) Define a in transistor amplifiers.

(b) Write the relationship between o and f3.

What is the need for biasing a transistor amplifier.

Draw the circuit diagram and output waveform of an astable multivibrator using BJT.

Implement basic gates using any one universal gate.

Draw the block diagram of a function generator.
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21 2)®@3 29 QIHOWBH Ga 0BRSS aBO@BIENC 6 af)FINTIM DODMOOAN®) >,

3 capod aflow. (6x3=18)
21. (a) KVL afl@q)ailee)es. (1)
(b) KVL 2a1corilajTes allel &:mejaillslen)d. Q)
20
MV <
SV 12V
> MA— | ——
22, @069 ®aMAlENIM HBAB EH0W)AB1OS 0UIgUMand alleidud dene)alSlea)d.
(a) Red Red Orange silver
(b) Orange orange orange gold
(c) Brown black black gold
23, ©@aVMA GENISHADEM o GRAILIINEI GENISHADEMNo DOODALEQ|S) BTN
24, 80)600A3A Soa| O0BFlanWAOHE MVAM:YS Q0] (IAIBGMMo AflUdElB:@1Ee)d>.
25. (@) (0mBmIquad @ogflan@dleel o A a 1He)d. 1)
(b) o o W ®lenss IMbo af)9)@)d. )
26. ®0) (soaamﬂg};@ (e‘@o?glao@@ au@mﬂouﬂmg @RYQUUD {3 WAHIET) ?
27. BIT 2alcosfla)igs 60) @oequanilid addsloaalceEnigdland avdayg awmalp
8Mgal)3 GAINIGANIMN0O QIRSED:.
28.  apo@®lelo 80) universal GNQ)alcUila) GamITUld: cWQMUd WIB22H9)H.
29. &0, function generator ©3 GENIOGH WD Wo AUIOLN) .
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30.

31.

32.

33.

34.

35.

Answer any S questions from 30 to 37. Each carries 4 scores.

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

FY-853

Write any two applications of Electronics in Medical field.

N

N ANVA

Find the frequency and average value of the above ac signal.

is the principle of a transformer.

(5 x 4 = 20)
(2)

()

0y

A transformer has primary coil with 1200 turns and secondary coil with 1000

turns. If the current in the primary coil is 4 amperes, then what is the current in

the secondary ?

Draw the energy band diagram of a semiconductor.

Compare P type and N type semiconductors.

Draw the circuit diagram of a transistor as a switch.

Draw the output characteristics of a CE transistor configuration.

Draw the circuit diagram of an RC coupled amplifier.

Write which type of biasing is used in the above circuit.

State De-morgan’s theorems.

Draw the circuit of a half adder.
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30.

31.

32.

33.

34.

35.

30 2)®@8 37 A1OOW)BH Ga10B8IBEIG3 aBO®BIEI S af)FROTIM POMOHAYL®) >,

4 capod aflow. (5x4=20)

(@) ©6013§(Y cARILIVIGE HLIRHESIHMIRIOAG 2 (ICWOINETBUB af)$)®).

(b) magad @adigies ac mlunellead Frequency ®)p average value 9o
B6NBYalS1He) .

N

N ANA

(a) 80} (SomaVEandRAOAR DD]o @M.

(b) &0 oMBaVEanIdATOWR O6EIAclcHVeled 1200 21Qid8lo  HAVBHARA
c0lelled 1000 21)0)a@)206m  98a®. ao@Iadl caoxielonr ome” 4A

@RYOEMBIE3 HAVSHBA WO LI H0ME af) (WM.

(@) B0)0eaVAldMERHNPS af)MAEA MINABUW WD W0 AIOH)D>.

(®) Poesaj N eosajio d@AVADMEHNDHOS GOODA IO |S)OT)M:.

(@) &0 (03 VIgRA aLfla) @D (IAIBGTENAN AVABYS AIOD)D>.

(b) @0y CE ©0mailqud cd0eBadlncoeuod @vgal)g ®0osgalqulaay’

QUOEN)M.

(@) RC coupled @ogflan@alodl (VBBHYNG VIO

(b) meglenss uddNSIa3 DalcINoIAE9N)aM biasing aG@66MAN af)$}@)d:.

(a) De-morgan’s theorems (a1q0200N69)d.

(b) Half adder qu@a:4)5 Q1086

()

()

0y

3

0y
3

()

()

3
0y

()
()
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36. (a)
(b)
37. (a)
(b)

FY-853

A K map of 3 variable contains no. of cells.
Using K map, simplify the function
F=Ym(1,3,5,7,9, 11, 13, 15)

Define amplitude modulation. Draw the AM modulated waveform.

What is the need for modulation ?
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36. (a)

(b)

37. (a)

(b)
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830} 3 variable K map-@3-6£1 &T0L)HS)10S af)sRo @6, 1)
K map 9alcouila) e10e)d3:0166)d.

F=Ym(1,3,5,7,9, 11, 13, 15) 3)

@Roaflgnan’ cadanceleuad alldg)alleed.  AM ca0W)ERIQAD CAINIGaNdo

QOB . 2)
GRAAIGRINHUO (Y @BIRYQIUDYHEOWADIEY) ? )
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